normalized X2

[ normalized x? probability |

1g Entries
EN . Mean 1]
107 :
ER: 0.8]
2N ..
107E Lo Entries
E Mean
FY: Std Dev 0.6
C . . 0.4
10 gt
105 - 02
EN: Entries Entries
Fe: Mean 1.1 Mean
o108 NI o 140
2 =
o o
I 1
0.95 Lo N :

oooood

10 12 14 16 18 20
2

%0 010203040506070809 1

Prob(x2)

1.8

< X2/ ndf >

1.6}

1.4

1.2

iy

Ratio

< X2/ ndf >

_Ollgm_mmﬂﬂjémﬁéﬂ PO
I_pixelCPETemplate stej pt1to1000 etalp6to2p0.

_pixelCPETemplateTut h!S'quarelOfsrep2vptllcp100075(a1p6102p0
_pixelCPETemplateCutChiSquarel5_step2__pt1to1000_etalp6to2p0
_pixelCPETemplateCutChiSquare20_step2__pt1to1000_etalp6to2p0
pixelCPETemplateCutChiSquare30_step2 pt1to1000_etalp6to2p0

< X2/ ndf >

Ratio

107 1072

1 -1
AR(track, jet?



	Contents
	Page 1


